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PHYSICS (SECTION-A) PHYSICS (SECTION-A)
The size of molecule can be measured by : 1. 3] B ATHR &I fHaD ERT A9T 7T 9T =
(1) screw gauge (1) =T
(2) optical microscope @) mﬁ@q\gﬂa‘sﬁ
(3) scanning tunneling microscope (3) TRfAT TAferT gewast
(4) none of these 4) g T8

A vernier callipers has 1 mm marks on the main 2,

scale. It has 20 equal divisions on the vernier scale
which match with 16 main scale divisions. For this
vernier callipers, the least count is :

(1) 0.02mm (2) 0.05mm
(3) 0.1mm (4) 0.2mm

If mass of box is 1.0 kg and mass of gold ring is 3,

30gm. Then total mass of box and ring in
siginificant figure is:

(1) 1.030kg (2) 1.03kg
(3) 1.0gm (4) None.

The solid angle (Q2) subtended by the intercepted 4

area of 1 cm? of spherical surface about center O
of radius 5 cm will be :

(1) 4 x 103steradian

(2) 2x 102steradian
(3) 3x 102steradian

(4) 4 x 102steradian

watt

is the unit of :

kelvin 5.

(1) Stefan's constant
(2) Wien's constant
(3) Cooling's constant

(4) Thermal conductance

& aiHaR S § =T M W 1 mma e g
21 g T R 8% 20 90K REIeF 8 < 16 &7
Thd RATH & 91 A @ 31 79 AR Rl
o, sreqaas €

(1) 0.02mm (2) 0.05mm

(3) 0.1mm (4) 0.2mm

i ReY &1 g 1.0 i 2 3k v 99 Y A

HT T 30 T 21 99 R sk IS =1 |
T aiE FH A 2

(1) 1.030TFIw (2) 1.030 .
(3) 1.0 (4) HE T8

el 5 cm Brean aTelt Mg 998 B HS Y WA T
A% 1 cm?® 8- v O R A=IRA o9 AT (Q)

(1) 4 x 10-3&XfT=
2) 2 x 102& T
(3) 3 x 102e R
(4) 4 x 102 T
—T i 2
(1) o e &t
(2) A= R &t

(3) daed i &t
(4) ST ATARAr

)



10.

Vv
The resistance R =T where V = (100 * 5) volts

and i = (10 £ 0.2) amperes. What is the total error
inR:

(1) 5% (2) 0.7 ohm
(3) 5.2% (4) 2.50hm
[ 2
A physical quantity P =d?eL1(/:3 is determined by

measuring a, b, ¢, d and e separately with the
percentage error of 2%, 3%, 2%, 1% and 6%
respectively. Minimum amount of error in
measurement is contributed by :

(1) b () a
3) c 4 e

The sun's angular diameter is measured to be
0.53°. The distance D of the sun from the Earth is
1.496 x 10" m. What is the diameter of sun:

(1) 1.38x 10" m
(2) 2.76 x 10°m
(3) 1.38x10°m
(4) 6.9x 10" m.

A body thrown vertically upwards direction it
passes from same height at 4 sec and 6 sec

respectively. Then find total height reached by
body (g=10 m/s?)

(1) 150 m (2) 125m

(3) 200m (4) 250 m

A car starts from rest at time t =0 s from the origin
O and picks up speed till t = 10s and thereafter
moves with uniform speed till t =16 s. The brakes
are applied and the car stops att = 20 s and
x = 296 m. The position-time graph which best
represents the above situation is:

t 350 1
x 3001
(M 550+
200 +
150 +

- 1001
50

ol H i
0 2 4 6 8 1012 14 16 18 20 22
t{s)—

10.

fear 2 gfeRiy R-%aﬁ V = (100 # 5) dice qeIr
i=(10 £0.2) ¥R 2, @t RY o Ffe B

(1) 5% (2) 0.7 ohm
(3) 5.2% (4) 2.50hm
/ 2
a, b, c, dTAT ed AGT B T P=%% P # T

forar Srar 21 AR a, b, ¢, d o A gfvE FRET W
2%, 3%, 2%, 1%T4T 6%8 a9 1 % ¥ forg afr =1

P &Y g qR ' —gmaw ahem 2
(1) b (2) a
@) c (4) e

T 1 HT A 0.53°191 T GF IR TR D A"
N U DFT A 1.496 x 10" m8 & G4 & == F1
A fpeT ghm:

(1) 1.38x10"m
(2) 2.76 x 10°m
(3) 1.38 x 10°m
(4) 6.9 x 10" m.
U aeg I HeaeR R A wepr W 81 99 98 9

HATE F 4secq 6sec oRal B | I9 IEF I HA
S48 I (g=10 m/s?)

(1)-150m (2) 125m

(3) 200m

U R Jaiarg OF faRemaen & 994 t =0 s R 9=+
B ® 3R t = 10s I I 91T 9241 S 21 39D
9% 9% t=16 s 9% & G4 91 3 9ol 2| 39 g
T4 SF mar T € Rl t= 20 s WA
X =296 m R & STl 2 | SUATT ¥ G i arell
fRufy g 7w 2:

(4) 250 m

t 350 1
x 3001
(M 550+
200 +
150 +

- 1001
50

(1)

ol H i
0 2 4 6 8 1012 14 16 18 20 22
t{s)—

@



1.

12.

13.

x 300+t
(m) 250 +
200 1+
150 1

100 +
@ el

Q0+ttt
0 2 4 6 8 101214 16 18 20

t(s)—

o
0 2 4 6 8 1012 14 16 18 20
tis) —

(4) None of these

Aball is released from the top of a tower of height 11

h metres. It takes T seconds to reach the ground.
What is the position of the ball in T/3 seconds :

h
) 9 metres from the ground

(2) 7h/9 metres from the ground
(3) 8h/9 metres from the ground

(4) 17h/18 metres from the ground

If the velocity of a particle is v = At + Bt%, where A 12.

and B are constants, then the distance travelled
by itbetweent=1stot=2s:

1 gA+4B (2 3A+7B
3 7 A B
A+LiB A=

G) 2773 W 273

The displacement of a particle is given by 13.

x(t) = (t—2)?, where x is in metres and t in seconds.
The distance covered by the particle in first 4 s is

(1) 8m 2) 4m
(3) 12m (4) 16m

x 300+t
(m) 250 +
200 1+
150 1

o 100 1
@) 50 1 : :
0+t

0 2 4 6 8 101214 16 18 20

t(s)—

x 300t
(M) 250 1
200 +
150 +

100

[ B o S S —
0 2 4 6 8 10121416 18 20
t(s) —

(4) =g &
h3=E 9 T 3T &l SieT o1 21 99 98 TY0 o
Fer a TgA 21 T/390 F AT N w/r Rufy

(1) FeH A %ﬁrsfw

(2) A A 7h/9 TS W
(3) Fe ¥ 8h/9 Fls |
(4) ¥ q 17h/18 T2

gfe fHdr &7 &7 A7 v= At + B2 2, S8 AR B
Fadie g, 9@ t=1s9 t=2s® 94 [ R el T4

U

1N gA+4B (2 3A+7B
3 7 A B
“aA+lB A,k

®) 2773 @ 273

Ua 0T T FAeIIaeT x(t) = (t — 2)2 a1 irar & et x#iex
¥ 3R tARUS A 21| FHU D ZRT I 4 s Tell A @
?:

(1) 8m
3) 12m

2) 4m
(4) 16m

&)



14. A ship A is moving westwards with a speed of
20 km h' and a ship B 100 km. South of A, is
moving northwards with a speed of 20 km h-'.The
time after which the distance between them
becomes shortest, is :

(1) 2.5h
) 5h

(3) 5v2h
@) 10V2h

15. A car travelling at a speed of 30 km/h is brought

to a halt in a distance of 8 m by applying brakes.
If the same car is moving at a speed of 60 km/hr
then it can be brought to a halt with same brakes

in:
(1) 64m (2 32m
(3) 16m 4) 4m

16. A particle experiences constant acceleration for

20 seconds after starting from rest. if it travels a

distance S, in the first 10 seconds and a distance
S, in next 10 seconds, then:

(1) S,=S,
(2) S,=2S,
(3) S,=3S,
4) S,=4S,
17. In figure, displacement-time (x - t) graph given
below :

8

t{s) —

o

.y

n

w

Fge i

w

[=3]

Y S,

the average velocity between time t = 5 s and

t=7sis:
(1) 8 ms™’ @) 10 ms™
(3) 15 ms™ (4) 20 ms™

18. A man can throw a stone to a maximum distance
of 80 m. The maximum height upto which he can

throw with same speed :
(1) 30m (2 20m

(3) 10m (4) 40m

14. T ST AU faam &1 3R 20 km h-'& 9 @ AT
&1 & 2 o iETel B AR 100 o aféror & 2
20 km h-' 9§ IR foam Y SR afy T @ 21 9% g
R are 398 §i9 3 T g7 @ TR

(1) 2.5h
) 5h

(3) 5v2h

@) 10V2h

15. & &R 30 km/h® AT q 9T @) 2| I T R 98
8 mTy TF Tl 31 AR @ T FR 60 km/hr 3
o1 ¥ 9 W 2| 79 98 fRa g W TR 9l @
1 R 3 Y W'

(1) 64m
3) 16m
16. TR /e ¥ vah o1 R T w@Ror 2090 & fore wemEm
21 afk veet 10R0 A 98 S, T T7 FHear 3 T IR
10¥0 ¥ 98 S,T9 FYm B, A
(1) S,=S,
2)'S,=2S,
3)'S,=3s,
(4) S,=4S,
17. a9 -9 (x - t) Ry & = fear w2

2) 32m
4) 4m

(m) 25

8

t{s) —

o

s

n

w

Fgu

w

»

Y S,

t=5sTA t=7 s 919 IGd AT BN
(1) 8 ms™’ (2) 8.7ms™
(3) 7.8 ms™ 4) 13.7ms"

18. T ¥ T TeoR &l ATAHT 80 m R B Gohell 3
' 97 =fea I IR T AT faet S 9@
TR
(1) 30m
(3) 10m

(2) 20 m
(4) 40 m




19.

20.

21,

22,

23,

Three particles A, B and C projected from the same
point with the same initial speeds making angle
30°, 45° and 60°, respectively with the horizontally.
Which of the following statements is correct?

(1) A, B and C have unequal ranges
(2) Ranges of Aand C are less than that of B

(3) Rangesof Aand C are equal and less than that of
B

(4) A, Band C have equal ranges.

The speed of a projectile at the maximum height
is 1/2 its initial speed. Find the ratio of range of
projectile to the maximum height attained :

4
(1) 43 ) N
3) ? 4) 6

The ceiling of a hall is 100 m high. A ball is thrown
with 60 ms~ at an angle 0, so that maximum
horizontal distance may be covered. The angle
of projection 0 is given by :

(1) sinezg @) sin6=i
9 J6
. 8
(3) sinb= 3 (4) None of these.

A projectile is fired from the surface of the earth
with a velocity of 5 ms~' at angle 6 with the
horizontal. Another projectile fired from another
planet with a velocity of 3 ms-! at the same angle
follows a trajectory of the projectile fired from the
earth. The value of the acceleration due to gravity
on the planet is (in ms) is (given, g =9.8ms™2) :

(1) 3.5 2) 5.9
(3) 16.3 4) 110.8

Find angle of projection with the horizontal in
terms of maximum height attained and horizontal
range :

2H 4R
tan”' =— tan'—
(1) R ) H
4H H
tan'— tan™' —
3) R “) R

19.

20.

21,

22,

23,

T O A, BAAT CHl T AT 30°, 45° T 60°,
& HIvT R 9ART forar orar 21 B A 9 e 96
2

(1) A, BT C ot W 7 &
2) AT CH R BY FH &
(3) ATAT C & W T4 T B Y &9 8
4) A, BT C o WY T4 2

U IR T A ARHAH S A8 R IR 91 HT
1/27FT 8| TR T AT S A1E HT FIT T

4
(1) 43 2) N
3) ? 4) 6

UEF FH A B9 100 m 39 8 T AT T 60 ms' AT
¥ 0 YT R BHT oram & Rrd i 98 siftrewmaw e
0 T Hh 21 0 HNT T A TR

(2) sinb= 1

N

5
ino ==
(1) sin

@ sino=< @) P

UE 9 T 1 F8 & 5ms' & 3T 0 FHIVT W IR
AT TH R IHE i R @ 7w 9 gas @
3ms"'& ATV TIH HT | BH AT 8 e A1
TEEN T T T T B A TE T T[Eeald &7 H A
FarEd (ms2 ¥) (a1 ? g =9.8ms?):

(1) 35 2) 59
(3) 16.3

AT ¥ 9 R T A AT FHAE IR WE &
9 & qar=a’:

4) 110.8

(1) tan™ 2 2) tan™ R
R H
4H H
tan” — tan” —
3) R @) R

©



24,

25,

26.

27.

28.

29,

A projectile is given an initial velocity of
(2i +j)ms ™", where i is along the ground and j is
along vertical. If g = 10ms2, the equation of its
trajectory is :

(1) y=x-—5x? (2) y=2x—5x2

(3) 4y = 2x — 5x2 (4) 4y = 2x —25x2.

What is the position vector of a point mass moving
on a circular path of radius of 10m with angular
frequency of 2 rads™ after t = =/ 8 s. Initially the
point was on X-axis :

1) 5.(+7) (2) 5v2(i+])

~ ~ 1 T N
3 i+] 4) E(HJ)
A car runs at a constant speed on a circular track
of radius 100 m, taking 62.8 s for every circular
lap. The average velocity and average speed for

each circular lap, respectively is :

(1) 0,0 ) 0,10 ms~

(3) 10ms™”, 10 ms™' 4) 10ms™, 0

A particle is fired with velocity u making an angle
6 with the horizontal. What is the magnitude of
change in velocity when it is at the highest point:

(1) ucos6 (2) usino

(3) —usinb (4) (ucos6-=u).

An aeroplane moving horizontally with a speed
of 180 km/hr drops a food packet while flying at a
height of 490 m. The horiozntal range is :

(1) 180m (2) 980m

(3) 500m 4) 670m.

A man standing on a road hold his umbrella at
30° with the vertical to keep the rain away. He
throws the umbrella and starts running at
10 km/hr. He finds that raindrops are hitting his
head vertically, the speed of raindrops w.r.t the
road will be :

1) 10km/h
2) 20km/h
3) 30km/h

(
(
(
(4) 40 km/h

24,

25,

26.

27.

28.

29,

UE 98 & 910 A (2§ + j)ms ! R oww @ 7y
Afer ey o | weafrk R & 21 3R
g =10ms=2 dl THH & T FHT AT FaTEA:

(1) y=x—-5x2 (2) y=2x—5x2

(3) 4y =2x —5x2
U s faeg o1 fReufar efewr saed Sifs 10m Brear
& g 9 W 2 rads™' & HG 3T R Far B,

T t =7/ 8 s YTAT STaih IRIFH fRufey X-3181 |
g

(4) 4y =2x —25x2

(1) 5.(+7) (2) 5v2(i+])

PPN 1 T %
() i+] 4) ﬁ('“)
T& TR 100 m Frea1 et R 99 R & G919 91
¥ 62.8 ¥ T TJFIX A 2| TR FFER A AEd A4

3R 3Ed AT Fard:
(1) 0,0 2) 0,10 ms™

(3) 10 ms™, 10 ms™'

T 9T T AR A T 0FIT W uaT d g&RT
T 21 AT ¥ IRadw &1 R fhaer 2, o9 g8
Jega g W 2

4) 10ms™, 0

(1) ucos6
(3) —usin6
180 km/hr & 91e1 ¥ &frer IfEher v 29T SR 9,

490 m &I FARE W IS TG WIeH &1 U T Rrmr
oirar 21 &fes W 2

(1) 180m
(3) 500 m

(2) usino
(4) (ucos6—u).

(2) 980m
(4) 670m.

U ied 95 T 30°% iV R ST A @S 2| 98

BN BEH X 10 km/hrd AT € Heam 21 98 1T
2 T aiRer 9t 92 I8 |W R IealR IRE 31 @55

& Fer aIRT A g3 A = B
(1) 10km/h
(2) 20 km/h
(3) 30km/h
(

4) 40km/h

©



30.

31.

32,

33.

34,

The surface are frictionless, the ratioof T,and T,
is:

Skg ] 12kg | 11| 15kg P
(1) 3:2 2)1:3

3 1:5 4)5:1

A car starts from rest to cover a distance x. The
coefficient of friction between the road and tyers
is y. The minimum time in which the car can cover
distance x is proportional to :

1
(p @ Jx

= |~

(3) Vu (4)
1 newton is equal to :

(1) 10°dyne

(2) 1 kg - m/s?

(3)Both (1) and (2)

(4) None of these

Three masses of 6 kg , 4 kg and 2 kg are attached
to a rigid support as shown in figure, If the string
attached to the support breaks and the system falls
freely then the tension in the string connecting 4
kg and 2 kg mass is:

(1) zero (2) 8 kg wt

(3) 12 kg wt (4) 6 kg wt

Two masses m, =10 kg and m, = 5 kg are connected
by a string passing over a pulley as shown. If the
coefficient of friction be 0.15 between surface &
m, then the minimum weight that may be placed
on m, to stop motionis:

30. afX g5 wvor e 2 @ 9@ T, T T, M FIE 2

[3kg ]| 12kg | "] 15kg /4'
(1) V32 (2)1:43

3)1:5 4)5:1.

31. TF FR R ¥ 99 € w3 a9 x gl ae

21 3R TR T A & i oy i p | AN FR R
foram T =g @ ST 2

1
(p @ Ju

(3) \u (4)

= |~

1ge

(1) 10°==9

(2) 1 foram-#o /&2
()= (1) 3R (2)
(4) SRIFT § IS &

33. o T 6 kg , 4 kg IR 2 kg T T )T T 3@

¥ER_ ¥ REAER dedr o 21 9t 33 ¥eR ¥ @it
ZT SR 2 a4 fRam e 2 fem @ S goh =@ X
19 B

(2) 8 kg wt
(4) 6 kg wt

34. afX 3 = m, = 10 kg IR m, = 5 kg REER T

YREF T J Bl B SR Y oRA SRI TG 21 3R
m, T T & 9 T Nk 0.158 1 A m, R @
THAF HT 98 AT 99 e m,RR @




(1) 18.7kg
(2) 23.3kg
(3) 32.5kg
(4) 44.3kg

35. At what angle should the two forces 2P and
P42 act so that the resultant force is P~+/10 :

(1) 45° (2) 60°
(3)90° (4)120°
PHYSICS (SECTION-B)

36. Three blocks coupled together as shown in the
figure are pulled by a force 700 N. The tension in
the string between Aand B is :

200kg 100 kg 50 kg
A B == ¢ | 700w
(1) 800N (2) 400N
(3) 700N (4) 500N

37. Mass of body is 2.0 kg, acceleration of body is
5m/s?2and the force remain in the body for 2.0 sec.
Then the impulse of forceis :

(1) 0.2 N-s
(2) 10 N-s
(3)20 N-s
(4) None of these
38. A lift is moving up with an acceleration equal to

1/5 of that due to gravity. The apparent weight of a

60 kg man standing in lift is :
(1) 48 kg-wt
(2) 72 kg-wt
(3) 60 kg-wt
(4)

4) None of these

(1) 18.7kg
(2) 23.3kg
(3) 32.5kg
(

4) 44.3kg

. q GRw 2PwE P2 @ diT &1 HivT Reaer Bhm AR

TAFT IR PV10 2 :
(1) 45° (2) 60°
(3)90° (4)120°

PHYSICS (SECTION-B)

. T favs RreeER @ TR ¥ 8 21 7007geH & 99

¥ 3 @I ST 2 AT B 919 9¢ff Sk & 9919
B

200kg 100 kg 50 kg
A B

(1) 800N (2) 400N

(3) 700N (4) 500N

Ush f4vs &I sedr 2.0 fHur dem wxor 5 Ho /A2
2, fivs U 9 2.0 o & o1 Hxar 2| af 9o
BT A9 @ -

(1)0.2 N-s

(2) 10 N-s

(3) 20 N-s

(4) $7 9§ IS e

U forde TH™ @ROT & 1/5 90T & §_I6R
RO O HUR BT 3R T B & 2, forde o @
60 fruT & 3Tl BT MU AR 2 :

(1) 48 fHuT—aR
(2) 72 fruT—vrR
(3) 60 fHuT—vrR
(4) T 9 PIE TE




39.

40.

41,

42,

43,

Three equal masses A,B and C each 2 kg are
connected by a light strings passing over massless
pulley as shown in figure. Then the tension in the
string connecting B and C is approximately
(g=9.8m/s?):

A
B
C
(113N (2)0.13N
(3)3.3N (4)Zero

Two forces F, = (3] +2j)NandF,=( 4]+ 2k)Nare 40,

acting on a particle of mass 6 kg then the magnitude
of acceleration of particle is:

7 2
1) —m/s
)

6 .2
—m/
(2) 7m/s

(3) Tm/s?
(4) None of these

If p, is the coefficient of kinetic friction and p_is ' 41,

the coefficient of static friction then generally :
(2) b, < by

(4, <y,

The linear momentum of a body varies with time
and is given p = A + Bt?, the force acting on body
for one dimensional motion is proportional to (A
and B are constants)

(1) t2 (2)11t

3) t (4) 112

A bomb explodes in mid-air when it has a
horizontal velocity of 20 m/s™". It breaks into two
pieces A and B having masses in ratio 1 : 2. If A
goes vertically at speed 80 m/s™', the speed of B

will be :
(1) 40 m/s™ (2) 50 m/s™
(3) 60 m/s™ (4) 100 m/s™.

39. 9T 9HH IR A,Bd C o9 ud® &1 gH

2 fur 2, U Tyor XfEd wRel AR
TR IRl g3 SiAl 4 99 @, B9 C &l wilsH
qrell SR ¥ d-ITa B -

A B
C
(1)13N (2)0.13N
(3)3.3N (4) =

A 9 F,=(37+2j) NTAT F,=( 4]j+2k) N TP
6 fHUT TaH{ TR I oId 2, Al S<U~ <axvul
T gREToT 2 :

(1) %m/s2
(2) gm/s2

(3)1m/s?

(@) 5 9 I TE

afg p, s aefor IoiTed g p wRfas e
g,

(M <H,

B H =1,

i Rt avg W @ 937 T S 9 el
p= A+ Bt?& FAR v 2 o axa &g 1y & 9=

FAATN BN (AT B e )
(1) t2 (2) 11t

(3t (4) 1/t2

. R 20 /3" W ¥ Y Far g3 w@T A

et & wrar 21 TR < THS AT B FHERN
T FI 1:221 A AFR I 3R 80N /A-F AT
q Srer 2, @ BT a9 8N

2) 50 /-1

@) 100% /&

(1) 40 /-1
(3) 60% /31




45,

46.

47.

48,

49,

A bullet of mass m moving with velocity v strikes 44,
a suspended wooden block of mass M and gets
embeded. The block rises to height h. The initial
velocity v of bullet is :

m(zgh)1/2

(1) (2gh)” @ o

M+m

(2gh)‘|/2

(3) (4) None of these

The kinetic energy of a person is half of the kinetic 45,
energy of a boy whose mass is half of that person.

If person increases his speed by 1 m/s, then its
kinetic energy becomes equals to that of boy, then
initial speed of person was :

\/§+2
) > m/s

(4) None of these

@) 22 +2)m/s

A bullet when fired at a target has its velocity
decreased to 50% after penetrating 30 cm into it.
Then the additional thickness it will penetrate in
cm before coming to rest is:

46.

(1) 10cm (2) 30cm

(3) 40cm (4) 60cm

A body covers a distance of 2 m under the action
of force F = (15 — 4x) N where x is the distance in
metres from starting point. The work done by the
forceis:

1) 11J

47.

2) 22J

3) 7J 4) 14J

A particle moves in the x —y plane under the action 48.
of a force F such that the value of its linear
momentum at any timetisp, =2 cos t, p,= 2sint.
The angle between Fand P at a given time t will

be :
(1) 90°
(3) 180°

) 0°
(4) 30°

A body of mass 3 kg is under a force, which causes
adisplacement initis given by S =t%3 (in m). Find
the work done by the force in first 2 seconds

49.
(1) 2J () 3.8J

3) 5.2J 4) 24J

U mTEaE A Mol vawr d M @ 3R FE M
THAN D ACH Y APS & e A 4 T h
FATS 9 I5T oo B | o9 Mell 1 IR 77 vE:

m(zgh)1/2

(1) (2gh)” Yo

@)

M+m

3) (2gh)"* @) =¥ i 78

& Ffed &) ST Fell ST 9=t &l ST Foll &t
el 2 et s =afad & S| &1 T8 | o
T AT AT 1 m/s 9T 3T 8 9 3= I freT

Fo1d T & T ® 99 Afad T SRS a8

\/§+2
) > m/s

@) 22 +2)m/s @) T ¥ E

R 98 1 3R TRl 1€ Ml 30 A Ao WA |
YT 50% 377 @ 2 B 99 I gRI &h4 aF A 97
Y 1 ifaRea g 2

(1).10cm

(2) 30cm

(3) 40cm (4) 60cm

U G 99 F= (15-4x) N& 3efi9 2 i g @@
el 8 ofel xR F IRFveE R A @ 2 Ja va a/r
ilg_cr?ﬂ?f%:

) 11J
@) 7J

) 22J
@) 14J

Fl 997 £ 3 SR F FT x-y T W TG IHR I
Far 2 o s9@7 feft et FEfig 93w

p,=2cost,p =2sint. T F @ P & 99 &9 t
WA R :

(1) 90° () 0

(3) 180° (4) 30°

3 forell s &1 U Five 99 & 3R oY R e
S=t/3(inm) H FRUT AT 2 | T8 2AFHS § T
T e T i BT
(1) 2J () 3.8J

3) 5.2J 4) 24J

(10)



50.

A body of mass 2 kg is thrown up vertically with

K.E. of 490 joules. If the acceleration due to gravity

is 9.8m/s?, then the height at which the K.E. of the
body becomes half its original value is given by :

(1) 50 m 2) 125m
(3) 25m (4) 10m
CHEMISTRY (SECTION-A)

50.

T 2 kg THAM T fIvE FeaieR 490 J T Feil § SR
T AR YoohT T AT eI EROT 9.8m/s? ], O S AT
org = wifasT oot 39 IR 919 9T el a9 -

(1) 50 m 2) 125m
(3) 25m (4) 10m
CHEMISTRY (SECTION-A)

51.

52,

53.

54,

55.

56.

In the gas equation PV = nRT, the value of
universal gas constant would depend only on:

(1) the nature of the gas
(2) pressure of the gas
(3) the temperature of the gas

(4) the units of measurement

Agas is found to have a formula [CO].. If its vapour
density is 70 the value of x is :

(1 25

(2) 3.0

(3) 5.0

4) 6.0

The correct expression for the vander waal's
equation of states is :

(1) (p+a/n?V?)(V-nb) =nRT
(2) (p+an?V?)(V-nb)=AnRT
(3) (p+an?V?)(V-b)=nRT
4) (p+an?V?)(V-nb) =nRT

The Van der Waal's parameters for gases W. X, Y
and Z are :

T Gas a (atm L? mol™?) b (L mol™)
4 4.0 0.027
b4 8.0 0.030
Y 6.0 0.032
Z 12.0 0.027

Which one of these gases has the highest critical
temperature

(1w 2 X

@B)Y 4) Z

An ideal gas will have maximum density when :
(1) P=0.5atm T =600 K

@) P=2atmT=150K

(3) P=1atmT=300K

(4) P=1atm T =500K

If the Vrms is 309./R m/s at 27°C. Then calculate
the molar mass of gas in kg :

(M1 2 2

(3) 4 (4) 0.001

51.

52,

53.

54.

55.

19 SHIEROT PV = nRTH Il A9 Maais o1 a9
e ik 2

(1) 9 & g |

(2) 9 =T e

3) g 1 A

(4) AT T SepreAl

T& A9 1 EF [CO] 1 AR I4HT a5y T 702
xib'r'ﬂF-r% 3

(1) 2.5

(2 3.0

(3) 5.0

4) 6.0

Feetara ST 3 98 fasey 2 ¢
(1) (p +a/n?V3) (V-nb) = nRT

(@) (p+an?V?)(V-nb)=AnRT

(3) (p+an?V?)(V-b)=nRT

@) (p+an?V?)(V-nb)=nRT

g W. X, YT Z3F = A9 2

T Gas a (atm L? mol™?) b (L mol™)
W 3.0 0.027
Y 8.0 0.030
Y 6.0 0.032
Z 12.0 0.027
g 9 & g gal=a wifeas a2 :
(1) W 2) X
@)Y 4 z
et A9 e u9cg feaw 8 o :

(1) P=0.5atm T = 600 K

(@) P=2atmT=150K

(3) P=1atm T=300K

4) P=1atm T =500 K

27°C™R Vrms 30, R m/s? | @ fraium & AR
THAM BT VAT HIR

(1) 1
(3) 4

2) 2
(4) 0.001

an



57.

58.

59.

60.

61.

Under identical condition of temperature and
pessure the ratio of the rates of effision of O, and
CO, gaes is given by :
ratio of effusion of oxygen
ratio of effusion of CO»

=0.87

ratio of effusion of oxygen
ratio of effusion of CO»p

=1.17

ratio of effusion of oxygen 87
ratio of effusion of CO5 '

ratio of effusion of oxygen
ratio of effusion of CO2

=0.117

At constant temperature, in a given mass of an
ideal gas -

(1) The ratio of pressure and volume always remains
constant

(2) Volume always remains constant
(3) Pressure always remains constant

(4) The product of pressure and volume always
remains constant

Which of the following statements is wrong for
gases:

(1) Confined gas exerts uniform pressure on the walls
of its container in all directions

(2) Volume of the gas is equal to volume of container
confining the gas.

(3) Gases do not have a definite shape and volume.

(4) Mass of a gas cannot be determined by weighing
a container in which it is enclosed.

At 25°C and 730 mm pressure, 380 mL of dry
oxygen was collected. If the temperature is
constant, what volume will be oxygen occupy at
760 mm pressure ?

(1) 265mL
(2) 365mL
(3) 569 mL
(4) 621 mL

If pressure becomes double at the same absolute
temperature on 2L CO,, then the volume of CO,
becomes :
(1) 2L 2 4L

3) 5L @) 1L

57.

58.

59.

60.

61.

T T 99 F TIF TG | 0,9 CO, A & 9'1a &l
AT FAIE B
ATFHSH & oBE B

M) —¢o,% == = = =087
) W%Waﬁﬂ_ﬂ7
@ 7o, F wm @ w
(3)awmaﬁwaﬁa¢:87
CO, % #/ME & | '
AT %Waﬁawm?

@ —co, % wmm = =
fraa 99w, Fed A9 @ e WY g A

(1) 19 9 FT AT AT GeT (o & 2|
(2) A g o & R

(3) =& geT e & 2l

(4) T g JTFTT AT R FaT AT T 2
A4 & fore 19 91 o T R

(1) IR g 9 A A Wi sy # e e
TN Bl

(2) R A9 & forw 9 w1 e T & A &
SRR el 7

@) & 1 Ffea sty T ST w8 B |
(4) I AT THHE 3G &I foRar ST g o a6
¥R 399 2|

25°CT 730 mmTE R 380 mL I HATF4IoH T
Y TS | g 919 P &) 9t 760 mm e W AT
fepaeT St R

(1) 265mL
(2) 365mL
(3) 569 mL
(4) 621 mL

2L CO, 3 &M TRH A9 R I} T AT T faar Sg

@ CO, & ATFTT BN :
(1) 2L ) 4L

3) 5L @) 1L

12



62.

63.

64.

65.

66.

67.

68.

A gas of volume 100 cc is kept in a vessel at 62,

pressure 10°Pa maintained at temperature 24°C.
If now the pressure is increased to 10° Pa keeping
the temperature constant, the volume of gas
becomes :

(1) 10cc
(3) 1cc

(2) 100 cc
(4) 1000 cc

In a closed flask of 5 litres, 1.0 g of H, is heated 63.

from 300 to 600 K. Which statement is not correct?
(1) Pressure of the gas increases.

(2) The rate of collision increases.

(3) The number of moles of gas increases.

(4) The energy of gaseous molecules increases

A gas is said to behave like an ideal gas when 64

therelation pV/T = constant. When do you expect
a real gas to behave like an ideal gas :

(1) When the temperature is low

(2) When both the temperature and pressure are low
(3) When both the temperature and pressure are high
(

4) When the temperature is high and pressure is low

The pressure exerted by 6.0 g of methane gasin gg

a 0.03 m® vessel at 129°C is (Atomic masses:
C=12.01, H=1.0.1 and R= 8.314 JK-' mol-")

(1) 215216 Pa (2) 13409 Pa
(3) 41648 Pa (4) 31684 Pa
The maximum number of molecules are in : 66

(1) 1.6gof CH,

(2) 16gofCH,

(3) 16 moles of CH,
(4) 16 mgof CH,

How much water should be added in order to

dilute an aqueous solution of HNO, (200 mL, 0.5 67.

M) to decimolar solution :

(1) 1000 mL (2) 100 L

(3) 800L (4) 0.8L

Calculate the number of atoms in 9.8 g of sulphuric

acid : 68.
5Np 7Np

) 10 @ 10

3 Na 4) 7N

®) o (4) TNa

24°C 1Y R U A9 et 3aa+ 100 cc? & 10°Pa
T R U 919 § @1 141, Ife g 919 W) " @y 10°

Paa foar oY &Y 99 &7 Jraa+ 8T :
(1) 10cc (2) 100 cc
(3) 1cc (4) 1000 cc

53X & §¢ I A, 1.0 g H, 3 3009 600 Kaa TRF
A 21 T A FO G A 2

1) A9 T < TS

2) Hered T o) e

3) 9 & AT FI g g
4) ¥ oL A St g

pV/ T =gais R ¢& 19 Aey 19 1 /g FaER
T B, U ardiaen A9 31es A9 &) e i F98R
T :

(1) 99 ¥ &

(2) 99 9 T I FA &

(3) 919 9 T I e B
(4) 99 RF B T I FH B

129°C Y W CH, 9 & 6.0 g T 0.03 m*ur= X 319

B (qwulmﬁ C=12.01, H = 1.0.1 3R
R=8.314 JK-'mol")

(1) 215216 Pa (2) 13409 Pa
(3) 41648 Pa (4) 31684 Pa

g3 Y FAftrepaw gEAT A

(1) CH, & 1.6 I9 &

(
(
(
(

(2) CH, & 16 I ¥
(3) CH,® 16 ia@ &
(4) CH, = 16 ToefiamT &

HNO, (200 mL, 0.5 M) & e faerae &t O e &
frae w1a 9 ArgwEEar Bl aft 9 feas SR
B

(1) 1000 mL (2) 100 L

(3) 800L (4) 0.8L

9.8 g H,SO, ¥ T3t ) geaT 2 :
5Na 7Na

(1) 0 ) 0
ANp

®) o (4) TNa

a3



69.

70.

71.

72

73.

74,

75.

For the given reaction
2A+3B - 4C

How many moles of C will be formed by reacting
10 moles of A and 24 moles of B :

(1) 32 (2) 20
(3) 10 4) 18

The number of atoms in 6.4 g of a tetratomic gas
having vapour density as 8 are :

(1) 0.4N,
2) 0.4

(3) 0.8N,
@) 16N,

A solution is heated to raise the temperature by 5
units, which of the following concentration terms
will remain unaffected :

(1) Molarity
(2) Mole fraction
(3) Mass %
(4) Both2and 3

How much volume of CO, will be produced by

burning 36 g of carbon in the presence of oxygen:
(1) 22.4L (2) 11.2L
(3) 1M12L (4)67.2L

How many moles of H are there in 3 moles of
CH,COOH:
(1) 4x3 (2) 3x3
(3) 3N, (4) 12N,

The relation of total number of electrons in 2 g of

D,Otothatin1.8gofHOis:
(1) Double (2) Same
(3) Triple (4) Onefourth

Which of the following has maximum number of
atoms:

(1) 20gof S,
(2) 20gof S,
(3) 20gof S,

(4) All will have same number of atoms

69.

70.

71.

72,

73.

74,

75.

Stufarar
2A+3B - 4C

3 C& o M a7 afe A= 10Ma T BF 24
e foram e @)

(1) 32 2) 20

3) 10 (4) 18

6.4g i ST a7 o9cg 88, S
A Y T Bl

(1) 0.4N,

2) 0.4

(3) 0.8N,

(4) 1.6N,

T f4eaT A T FE R (19 H 5 AFE TgF W)
FfoRaa & ¥ 9 rgwT @I

(1) SAeren

(2) AT TS

(3) T %

@) 3 23R 3

36 g HET i ATFHIT B IYRATT A T/ A |
CO, & faramT ST o= 81 :

(1) 22.4L 2) 11.2L

(3) 1M12L (4) 67.2L

CH,COOH® 3 i ¥ HA fFew Ma 2 :
(1) 4x3 (2) 33
(3) 3N,

2gD,0%F ATl T 1.8 g HO® TAggH o

T B
(1) SR
(3) T I

(4) 12N,

(2) T

(4) =romg

Frafafa ¥ ¥ fRres wemps 9 v gaites Be:
(1) S,® 20¢g

2) S, 20 g

(3) S,® 20¢g

(4) ET & 9TE G IA BRI

a4



76.

77.

78.

79.

80.

81.

82,

83.

10 g of A is mixed with 15 g of B. Find the mass %

of Ain the binary solution :
(1) 40% (2) 20%
(3) 10% (4) 67%

In PO,* ion, charge on each oxygen atom and
P-O bond order respectively are :

(1) -0.75,0.6 (2) -0.75,1.0

(3) -0.75, 1.25 (4) -3, 1.25

Which of the following has identical bond order :

(1) CN-and O, (2) CN-and NO*

(3) CN-and O (4) NO*and O,

Which of the following has unpaired electon in
the antibonding molecular orbital :

(1) G, @) N,
@) C, (4) B,
1 Debye is :

(1) 3.3x10°°C-m (2) 6.2x10*°C-m
(3) 6.02x10°C-m (4) 3.7x102*C-m
C-H bond length is longest in :

(1) CH, (2) CH,

(3) CH,
0-0 bond length order in Na,O,,
(1) Na,0,>0O,>KO,>0,

(2) KO,>Na,0,>0,> 0,

(3) Na,0,> O, =KO,>0,

4) 0,>0,=0,>KO0,

Which of the following species will have
intramolecular hydrogen bonding :

(4) Sameinall
KO,, 0., O,:

) '
C
g @(C\O @ @ o
oM
oL,
O-H
© |
® Y @I,
O¢+\ O C|C|):

76.

77.

78.

79.

80.

81.

82.

83.

A 10g® Bd 159 M W, AsT fqagT &
TEHAM %BN
(1) 40% (2) 20%
3) 10%

PO 31 %, TA® TSRS 9] ' a3
P—-O &= % H9TI: § :

(4) 67%

(1) -0.75,0.6 2) -0.75,1.0
3) —0.75,1.25 (4) -3,1.25
I S 9 T S FReR SuRvm 2
(1) CN-3fR O (2) CN-3R NO*
(3) CN-3R O, (4) NO* 3R O,

FEEN e et A T S fhad SR Sorae
IR 7 :
M O, (@ N,
®) C,

1RIEFTaF 2 :
(1) '3.3x10%°C-m

4) B,

(2) 6.2x10°%°C-m
(3) 6.02x103°C-m (4) 3.7x10% C-m

C-H o= T |aifes 2

(1) CH, ) CH,

(3) CH, @) T § ¥
O-O 97 g %9 Na,0,, KO,, 0,3 O, &nm :
(1) Na,0,> 0, > KO, > O,

(2) KO,>Na,0,>0,>O0,

(3) Na,0,>0,=K0,>0,

(4) 0,>0,=0,>KO,

I AF TR o BT ¥  Fle @ 2

H OH
' &
NS
g @(C\O @ @ ©
oM
oL,
O-H
|
® @ y
Oé'w\ul\ O |C|:/

as



84.

85.

In which conversion, bond length decreases :
(1) N,—>N*
(2) N,—> N
(3) CO—-cCo*
4) 0,»0,
Maximum number of hydrogen bonds that can
be formed by one H,O molecule are :
(1) 2 (2) 4
3) 6 (4) 1
CHEMISTRY (SECTION-B)

86.

87.

88.

89.

90.

The formal charge on S atom in the following
structureis :

@)

(1) +6
(3) 4

(2) +4
(4) Zero

The magnitude of the lattice enthalpy of a solid
increases if :

(1) the ionsare large

(2) theionsare small

(3) theions are of equal size

(4) charges on the ions are small

Which of the following is the correct order of bond
angle in H,S, NH,, BF, and SiH, :

(1) H,S <NH, <BF, < SiH,
(2) NH, <H,S < SiH, < BF,
(3) H,S <NH, < SiH, <BF,
(4) H,S < SiH, <NH, <BF,
Shape of ClIO," is :

(1) Triangular pyramidal

(2) Triangular planar

(3) Tetrahedral

(4) Triangular bipyramidal

In HCI molecule, expected value of dipole
moment is 6.12 D but experimental value is 1.03

D then % covalent character will be :
(1) 16.83 (2) 18.90

(3) 83.17 (4) 94.98

84.

85.

(1) 2
3) 6

(2) 4
41
CHEMISTRY (SECTION-B)

86.

87.

88.

89.

90.

S TEIY] R RS AW e g A 2

(1) +6 2) +4
(3) 4 4 T

S Fll #419 Afre gar 8 o

(1) 3T ST AFR | &

(2) 3T B FR A B

(3) 3T T MFR 4 &

(4) 3T N AW FA B

I HIVT T GE F9 2 : H,S, NH,, BF, 3R SiH, :
(1)°H,S < NH, < BF, < SiH,

@) NH, <H,S < SiH, < BF,

(3) H,S <NH, < SiH, < BF,

(4) H,S < SiH, < NH, < BF,

CIO, & AFHR 2 :

(1) i s

2) P weda

(3) IR

(4) iy i

HCI 31vp ¥, fayga smepl &1 sifsie e 6.12D2

Sief SIHTeTE A 1.03 DR | %¥gaasTs T HCI
SI'UI'#‘E}TH:

(1) 16.83
(3) 83.17

(2) 18.90
(4) 94.98

(16)



1.

92,

93.

94,

95.

96.

97.

98.

99.

100.

The subshell which is not possible is :

(1) 1p
(3) 6s

(2) 7d

(4) 5p

The radius of H-atom in the ground state is 0.53
A. The radius of Li?* ion's ground state is :

(1) 0.53 A ) 1.06 A

(3) 0.265A (4) 0.17 A

If the total charge accumulated on the oil drop is
3.2x10-'8C, then find the number of electrons

present on the drop :
(1) 2 (2) 20
(3) 0.2 4) 10

The number of protons in Ca? ions are :

(1) 18 (2) 22

(3) 20 4) 24

The spherical nodes in 4s are :

(10 23

(3) 4 (4) 2

The orbitals having m =0 is/are :

(1) 2s (2) 3dz2

(3) 3pz (4) All of these

The mass of proton is equal to :
(1) mass of neutron
(2) mass of electron
(3) 1/2 of mass of neutron
(4) 1/2 of mass of electron

The correct relation is :

(1) E=hov @) E—hv

(3) E=hc (4) E=hcv
Atomic spectrais:

(1) Continuous

(2) Discontinuous

(3) Characteristic of an element

(4) Both2and 3

How many electrons of carbon have n=2, |=1 :
(1) 4 (2) 6

3) 2 4) 3

1.

92,

93.

94,

95.

96.

97.

98.

99.

100.

YR o GHT T8 B

(1) 1p (2) 7d

(3) 6s (4) 5p

HT] 31 3 e % Brar 0.53 A1 Liz s
& [ e A Frear Bl

(1) 0.53A () 1.06 A

(3) 0.265A 4) 0.17 A

IR A9 AN 47 R [ NIAA 3.2%10-"°C FHeig &
g€ & IURReIT TelarglT ol g Bt

(1) 2 (2) 20

(3) 0.2 (4) 10

Ca? I+ & el & 9 ® ¢

(1) 18 2) 22

(3) 20 (4) 24

4s¥ e gy A TET B

(1) 0 ) 3

3) 4 (4) 2

Hers Rras g m =02 :

(1) 2s (2) 3dz?

(3) 3pz (4) &

eI T FHAF aER BT 2

(1) =IH & T & TR

(2) T & FHAN & TR
(3) M & 1/2FFAH & TR
(4) S F /2T T R

& T Y B

(1) E=hcv 2 E=hv
(3) E=hch (4) E=hcv
TRAI] WFEH 2

(1) Fad

(2) e

(3) T & T

@) 3 29 3

Fe P foram Te9gE & T8 n=291=12 :
(1) 4 (2) 6

3) 2 4)3

a7



101.

102.

103.

104.

105.

Which of the following is/are correct:
A. Bacteria are most abundant microorganism

B. Bacteria are individualy show most extensive

metabolic diversity

C. Bacteria are very simple in behaviour but

complex in structure

D. Bacteria may be photosynthetic autotrophic

or chemosynthetic autotrophic
(1) A,Bonly (2) B,Conly
(3) A,Donly (4) AB,CandD

Archaebacteria differ from other bacteria in
having:

(1) Composition of cell wall
(2) Composition of genetic matarial
(3) True nucleus

(4) All of these

The main arena of various types of activities of a
cellis:

(1) Nucleus
(2) Plasmamembrane
(3) Mitochondrian

(4) Cytoplasm

Which of the following cell organelles is
responsible for extracting energy from
carbohydrates to form ATP :

(1) Mitochondrion
(2) Lysosome
(3) Ribosome
(4) Chloroplast

Mad cow disease in cattle caused by an agent
which has:

(1) Polyhedraly arrenged protein
(2) Smaller size than bacteria
(3) Abnormally folded protein

(4) 2and 3

101.

102.

103.

104.

105.

Fr=fafaa & ¥ = & 2:
A. SIEV] 99 TGT 9T 9T e el B

B. a1 AfFaa &7 @ 9ga AAlE Sud=g &
fafaerar sefifa o 2

C. A &1 FIER T G TAT GLIT Sied B
3

D. AT FehTar STt Taiet AT A St Ty
B Thd ¥

(1) @ad AB (2) @ad B,C
(3) @as A,D 4) AB,C3RD
T AFARAT TR AFARAT ¥ R AT B 2

(1) hifarerT ffeq =1 Foes
(2) AT AREN T FHSH
(3) F= HreE

@) ¥ a0

HifarnT ¥ A= 7R 9t IffaRme &1 e aa A
?:

(1) d=F

(2) AT fereelt
(3) HrEeremfozaT
(4) T g

= & ¥ F9 @ FIRET ATP S 7 @ R
FIANETEZS Holl Mepreq & forg Rier 2:

(1) Wiz

(2) TSR

(3) T=aEH

(4) FARrRe (3Ra @aF)

TR ¥ Azarss N 3eT A 91 FRE D 99 BT
2

(1) SEHASH FAreIT W
(2) SMFHR A SHaM & BreT
(3) T €9 & T B WA

(4) 2v9 3

as)



106.

107.

108.

109.

100.

11.

Find the correct matching of the following :

(a) 1983 (i) Discovered viroids

(b) 1999 (ii) Virus crystalization

(c) 1969 (iii) Five kingdom
classification system

(d) 1935 (iv) Crafoord Prize

(e) 1971 (v) Balazan Prize

(1) a-v, b-iv, c-ii, d-i, e-iii ~ (2) a-iv, b-v, cHiii, d-i, e-ii

(3) a-v, b-iv, cHii, d-ii,e-i  (4) a-i, b-iv, c-iii, d-ii, e-v

The main criteria for five Kingdom of classification
Includes:

(1) Mode of nutrition, reproduction

(2) Cell structure and body organisation

(3) Phylogenetic relationship

(4) All of these

Bacteria which play a great role in recycling
nutrient like nitrogen, phosphorous, iron and
sulphur are:

(1) Anoxygenic photosyntheter

(2) Blue greenalgae

(3) Chemosynthetic autotrophic

(4) Photosynthetic autotrophic

Which of the following is incorrect about
chrysophytes:

(1) Chrysophytes includes diatoms and and golden
Algae

(2) Chrysophytes are found in freshwater as well asin
marine water

(3) They are microscopic and float actively against
water current

(4) None of these
Euglenoids have protein rich layer instead of cell
wall this layer is called:

(1) Pellicle
(3) Cellulose

(2) Chitin
(4) Pectin

Which of the following is correct about slime
moulds:

(1) During unfavourable condition slimemoulds form
aggregation called plasmodium

(2) During favourable condition the plasmodium
differentiate and form fruiting bodies bearing spore
at their tip

(3) Spores are dispersed by air current
(4) All of these

106. T & 3 FE) e w9 =Y

(a) 1983 (i) R A

(b) 1999 (i) ATEE A @R T

(c) 1969 (iii) 9= SRTT FRfTaR<oT FY
vaia

(d) 1935 (iv) TS AT

(e) 1971 (v) STt IEST

(1) a-v, b-iv, c-ii, d-i, e-iii -~ (2) a-iv, b-v, c-iii, d-i, e-ii

(3) a-v, b-iv, cHii, d-ii,e-i  (4) a-i, b-iv, cHiii, d-ii, e-v

107. I ST TRVl & Fore I wirieve fog g o

(1) arwor S gfekar, T
(2) 3Rt G 3R TR G

(3) STfIgecia g¥ei=er
@) ¥ T

108. FTEEIH BIEHIE, AT AR IR Y ATFH &

THaHT A TS SNam] FEeaqul Rt i 2:
(1) TAFASIHE TehTer G

(2) <l B AT

(3) @I G TNt Sfar

(4) TRT IS TS SiraTo]

. FrfaRaT A @ wEaEEeE & TR A S99 Tod B

(1) FIEEEEE § WA IR GIR NI 3T 7
(2) FISARISCH TS M & GI-ar Fauig g & ofF
T SIS B

(3) ¥ 3T N TAT AU & faoda &l &9 & T
7

4) T ¥ g T8

. EAFITES & I S fafeq & we R 9dE gaa

e &) 9 Bl ® A I e 7:
(1) Afciferer (2) =FrEfea
(3) Heedrst (4) Ofere

. F=faReT A @ srauw waw (TFEeS) @ e &

w4 2

(1) Tl oikfufa 3 wrewies o s & R e
FEd B

(2) 3T IR ¥ ATerAifeaT favara Rl R SieToerT
FATR T B

(3) SaTorsl T ARSI 9Ry & ATy BT ¥

(4) ¥ =f

9



112.

113.

114.

115.

116.

117.

Dikaryon formation is characteristic of:
(1) Phycomycetes and Basidiomycetes
(2) Ascomycetes and basidiomycetes
(3) Ascomycetes and phycomycetes

(4) Phycomycetes and deuteromycetes

Match the column | and column Il and choose
correct answer:

Columnl
A. Phycomycetes i
B. Ascomycetes ii..

Columnlli
Agaricus, Ustilago
Mucor, Rhizopous

C. Basidiomycetes iii. Alternaria,
Colletotricum

D. Deuteromycetes iv. Penicillium,
Claviceps

1) A-ii,B-iv,C-i, D-iii

2) A-i,B-iii, C-ii,D-iv

3) A-iv,B-i, C-ii, D-iii

4) A-ii,B-iv,C-iii, D-i

Asexual spore are produced exogenously in
............ A........ and endogenously in .......B......:

(
(
(
(

1) A - Ascomycetes, B — Phycomycetes

2) A—Basidiomycetes, B — Ascomycetes

3) A— Ascomycetes, B — Basidiomycetes

(
(
(
(4) A-Basidiomycetes, B — Phycomycetes

Plant families like convolvulaceae, solanaceae
are included in which order :

(1) Poales (2) Poaceae
(4) Sapindales

How many matchings are correct :

(3) Polymoniales
Extreme salty areas — Halophiles

a.
b. Hot springs — Thermoacidophiles

c. Marshy areas — Methanogens

d. Methanogens — Ruminant animals

1) 3 ) 4

3) 2 4 1

Which of the following statements are correct
about cyanobacteria :

(
(

(1) They have chlorophyll 'a'

(2) They often forms Blooms in polluted water bodies
(3) They are called photosynthetic autotrophs

(4) All of these

112.

113.

114.

115.

116.

117.

fe=Na &1 9941 fhaa! fy@iom 2:
(1) ETERMATERIEST IR SRAERES
(2) TERRIERIANT 3R AR
(3) TERMITEIIEIST 3R HTERIATSRIEST
(4) FrERRTERIAS 3R safedrmede

W | 3R T |l R e 3k 98 Rieer -
T | & |
A. FIEHEERIES i, CAREE, AR
B. TEhRIERIEIST ii. R, TN
C. IRfsarmRés iii. SeEARET,
HIeeIgrEER
D. SPAERE iv. SRR, FEdRTE

(1) A-ii,B-iv,C-i, D-iii
(2) A-i,B-iii, C-ii,D-iv
@) A-iv,B-i, C-ii, D-iii
@4) A-ii,B-iv,C-iii, D-i

Frafren e ........... A...... % afFd 3R .......B......
A Ao I B 7

(1) A—QERIFTERIENT, B — wIEahIMTERIEE

@) A-3RfaEERES, B - wrHEREs

(3) A — TERIHTREIET, B — afefammsfds

@) A-RfErmRds, B-wEwRERAS

9T R Y FiFAIaegd, QA it {5 o7 F w@@r
TI'QT%:

(1) e (2) e

(3) diferifAerd (4) A==

fra sewar 9w 2:

a. FARE waviig &9 —AwIEed
b. T TA - M RIRIEH

c. IS &~

d. WA -wiRw 9=

(1) 3 (2 4
(3) 2 4 1

FfaRaa ¥ A9 91 FoF IEFRFARET ® IFER I
LB

1) ¥ FARIME 'a’ W@ B

2) A 9 TSR ST ¥ e i i a3

3) A YT I A e 21

(
(
(
4) SR ot

(20)



118.

119.

120.

121.

122,

123.

The group of organisms which are helpful in
making curd from milk, production of antibiotics,
fixing nitrogen in legume roots. This group of
organisms are :

(1) Heterotrophic bacteria

(2) Archaebacteria

(3) Cyanobacteria

(4) Chemosynthetic autotrophic bacteria

Which of the following are bacterial disease :
(1) Typhoid

(2) Tetanus

(3) Citrus canker

(4) All of these

Cholera disease is related with :

(1) a
3) c
Which kingdom forms a link with the others
dealing with plants, animals and fungi :

(2) b
4) d

(1) Monera (2) Plantae

(3) Protista (4) Animalia

In which organisms the cell walls form two thin
overlapping shells, which fit togethar as in a soap
box:

(1) Slime moulds
(2) Protozoans
(3) Diatoms

(4) Euglenoids

How many statements are correct with reference
to sporozoans

(a) All are parasite

(b) Locomotory organelle absent

(c) Malaria causing agent belongs to sporozoans
(d) Nuclear membrane are present

(1) 1 (2) 4

3 3 @) 2

118. SHal &1 TE SNk U A T& &l 91 A, Ay

D IR A, AGHA W A ATEIo RUAFT F §
FEAT T 21 98 SNal T GE B

? o0
o%oioo
o ®

(@)

(1) a
3) ¢

) b

4) d

. 91 Th=d 3= fhea IR gey, wikfmr sk
FE D GIY G G SISl HI g1 8:

(1) AT
(3) wfewer

(2) UTET ST

(4) T

. e ST ¥ ifte Bl ageert 3 e R e

3 afveiRd Had s 2
(1) TS Aegd

2) WS

(3) wreven

(4) TS

123. RIS A & g A fFad a9 2

(a) 9 oo 2

(b) AR AT IR

(c) FRAT IT9 HA T ATHRAS RIS I
G @l 3

(d) B fareel SyRem 2

(11

@ 3

() 4
4 2

@n



124,

How many matching are correct

Entamoeba [free living |Ciliated protozoans

Trypanosoma |parasite |Flagellated protozoans

Plasmodium |parasite |Ciliated protozoans

Plasmodium

parasite |Sporozoans

125.

126.

127.

128.

129.

(1) 2 2 3

(3) 4 (4) 1

Bladderwort and venus fly trap are examples of
(1) Partially heterotrophic plants

(2) Insectivorous plants

(3) Totally heterotrophic plants

(4) More than one options are correct

How many statements are correct according to
kingdom Animalia

a. They directly depend on plants

b. They indirectly depend on plants

c. They store food reserves as glycogen or fat
d. Some of them are capable of locomotion

e. Their mode of nutrition is holozoic

(1) 4 2 3

3 2 4 5

M.W. Beijerinek demonstrated that the extract of

the infected plants of tobacco could cause
infection in healthy plants and called the fluid as

(1) Contagium vivum fluidum
(2) Infectious living fluid
(3) Both1and2

(4) Infectious non living fluid

Viruses could be crystallised and crystals are made
up of

(1) Largely of nucleic acids

(2) Largely of protein

(3) Largely of carbohydrates

(4) Largely of carbohydrates and protein both

In the given below examples. How many are viral
diseases in animals :

Common cold, mumps, small pox, typhoid,
cholera, influenza, herpes, tetanus, AIDS

(1 6 (2 5

125.

126.

127.

128.

129.

frar sreTar 9l 2

a.|[gesriar  [wada ot [RferRes wesis
b. [fERT  [woldl [wifrerRs e
c. [wriftgw  [woidt [f&feRT wiesierT
d. [=roRfeTs  [wRolat (TR

(1) 2 ) 3

3) 4 4) 1

=e@d IR A9 TS T IaTeT Bl B

(1) 3nfEre & ¥ 9Ray

(2) Freeh W

(3) Ut &7 & TRt dier

(4) TF ¥ TET IR qEl

oo Fe fRwres wirtferar & aeR g @
. A RNA Y it R it 2

b. ¥ AR & q delf WA ER 7

c. ¥ TAIShIGH UEl 99T & & A Hie &l 999
2

d. ¥ ¥ {5 & I ¥ gew A9 2
e.” T AT &Y RfEr S B @

[V

(1) 4 2 3
3) 2 4) 5
M.W. 39RAF 7 arm for ST e @ e fr

TES- T, B Gt B W TRNT e § e R
I8 39 @ Sl FEl

(1) R A FepEd
(2) GHFF Siifad a8

3) 13K 23+

(4) GHFTER JlTad O

12 T foreeagere fohar <1 9ahdr @ 3R fveea |1
B ?

(1) T el 3 &

(2) eI A &

(3) eI FErEse

(4) T FEEEYE S N A @

R o T Ierewun W | R arsRE S A gt
A2 | PR, T, ATE, TABTIS, FHIRT, TRIC,
Eﬁﬁ,ﬁ‘éﬁﬂ,?{ﬂ

N
\/

{2\ 5

(3) 4 4 3

(2]

\=7

6
(3) 4 4 3



130.

131.

132.

133.

134.

135.

136.

The viruses contains
(1) Only RNA

(2) Only DNA

(3) Either RNA or DNA

(4) Both RNA and DNA

Funaria plant body is attached to the substratum
by

(1) Rhizoids (2) Stripe
(3) Holdfast (4) Root
Sporophyte in bryophyte nourish by
(1) Rhizoids (2) Root
(3) Gametophytes (4) Spores
Bryophytes include

a. Mosses

b. Horsetail

c. Liverworts

d. Ferns

(1) a,b (@ a, c

(3) ad (4) bd

Volvox, Ulothrix, Spirogyra, Chara, Dictyota,
Ectocarpus, Laminaria, Sargassum, Porphyra and
Polysiphonia, etc., are the examples of green
plants. Number of organism which having
chlorophyll a and chlorophyll ¢ are

(1) Three
(3) Seven

(2) Four
(4) Five

In liverworts asexual reproduction takes place
by the formation of specialized structures called
(1) Gemmae

(2) Sporangia

(3) Zoospores

(4) Both1and2

Match the following

a. Lycopsida i) Dryopteris
b. Pteropsida ii) Selaginella
c. Sphenopsida iii) Psilotum
d. Psilopsida iv) Equisetum
a(ii), b(iv), c(i), d(iii)

a(ii), b(i), c(iv), d(iii)

) a(i), b(iv), cii), diil)
@) a(ii), biil), c(iv), d(i)

130.

131.

132.

133.

134.

135.

136.

59 W@ B
(1) el 3RO THO TO
(2) a0 TH0 TO

(3) a1 A 3RO TH0 TO 37T $I0 THO VO
(4) 3RO TH0 Yo 3R 0 THO O TN

TARAT Gter T IR AR | FFaad g/ =T otar @
(1) e (2) TI="

(3) EieehrEe 4) =
TRTRTEE A WRIGEE FEd WIS I Har 8
(1) e 2) S’

(3) AMIhrEe (4) drsm
FEEEe ¥ B9 @

a. WG

b. BRieH

c. foraad

d. %

(1 a,b (2 a, c

@) ad 4) bd

aicarad, Jafyad, wEdam, s|, Ry,
TFASI9Y, ARARET, IR, IREIST U9 TeiERi=ar
ToIe B IEYl & ITET & U9 Sia) i g garsa

R 7% ‘T v G’ 9rr oar @
(1) @ (2) IR
(3) Ei 4) 9

forax 3@ A s w7+ v e e R T R
B 2 R Fed @

(1) o

(2) TaRf~sEr

(3) =t Y

@) 192
FeafaRas = e AR

a. EHIYERT ) gETeRE
b. &R i) A
c. TR iii) GrgeNeH
d. arEegdEr iv) SFAEeH

(1) a(ii), biv), c(i), d(iiiy () a(), biv), c(ii), d(ii)
3) a(ii), b(i), c(iv), (i) (@) a(i), byiii), c(iv), d(i)

(2)



137.

138.

139.

140.

141.

142,

143.

In Gymnosperms leaves are

(1) Simple (2) Compound

(3) Needle like (4) All of these
In cycas

(1)

Male cones and megasporophylls are borne on
same trees

)

Male cones and magasporophylls are borne on
different trees

(3) May be on same or different trees
(4) Both1and?2

In Angiosperms when pollen tube enters the
embryo sac how many male gametes take parts
in double fertilization

(1) One (2) Two
(3) Three (4) Multiple
Diplontic life cycle is present in

(a) Cycas

(b) Eucalyptus

(¢) Funaria

(d) Dictyota

(e) Adiantum

(1) b,cd 2) cd

(3) ce 4) a,b

The tallest tree species of the gymnosperms is
(1) Eucalyptus (2) Pinus

(3) Cedrus

Which of the following is considered an
important step in evolution as it is a precursor to
the seed habit:

(1) Haplontic life cycle

(2) Free-living gametophyte

(3) Dependent sporophyte

(4) Development of embryo inside the female
gametophyte

Given are a few statements

(4) Sequoia

(a) Important soil binders

(b) They are the first terrestrial land plant with
vascular tissues

(c) Cones are present

137.

138.

139.

140.

141.

142,

143.

Rrient ¥ ot e 2

(1) &= (2) g
(3) g @) A=
LEC

(1) AT T TAT MR T & N § e @
(2) A T TAT AMEARINEET T T T A Fer &
(3) U & AT T -3 Wel F foeray &

@) 1T 2 3

oiorest A w9 9 <ge TRaRe d g o @
@ fRraR e B & v @
(1) T @ =

3) &+ (4) =T AR
fearas e o forest ot et @
(a) AEE

(b) qehireE

(c) wnfRar

(d) fRfreater

(e) ©fSvew

(1) b,cd ) cd

(3) ce 4) a,b
e o) 999 ol gonfa @

(1) garfered (2) wreE
(3) ¥ (4) Rrepram
FfaReT & 9 fRd e A v Fecayul @vew Amm
ST 2 T a7 G 2fae @ fUedk 2
(1) g S <o

(2) T S gAY

(3) i Somrefg

(4) HTeT TIAEIE & 3R YT T faE
5 7 R W &

(a) BT [ S

(b) ¥ 7o wriE WY F RFS ¥989 F9s 93 W
>

) o which all th (c) AT IR S ¥

Choose the option for which all three statements . .
hold true IRFd T T fhaa o 981 7
(1) Ulothrix ) Pinus (1) T (2) Wz
(3) Cycas (4) Equisetum (3) E=HE (4) ZFAfdeH

()



144. Characteristic of angiosperms which distiniguish 144, ofesaiert & A AR St et ) ofesaent 3

them from gymnosperms Ry Ty
(1) Seeds covered by ovary () ot o s A 2
2 fZeyr?”ci);Z 322 triploid endosperm formed after double 2) e o 12:‘?]\1"&3 v R & T a3
(3) The pollen grains and ovules are developed in 3) WW@WW%W%W@%%
specialised structures called flower R g e B
(4) Allof the above ) IRFT 95
145. Which of the following does not differ in E.coli and 145. FFT R ¥ ?ﬁﬂ, £ FerE sk TITRRTRT A AT THR
Spirogyra: e e Y
(1) Ribosome (2) Cellwall (1) T @) B N
(3) Cellmembrane (4) Mitochondria 3) e et @) W‘W

146. In given structures how many structure are bound

146. oY ¢ AT F fFaa 9T 9 et @ BR B9 21
by double membrane.
Mitochondria, Ribosome, Vacuole, Lysosome, AEEIHIVGAT, TLAE, TWUIH, A, gRaeas,

Chloroplast, centriole, Nucleus, Golgi apparatus 'ﬁiﬁsﬁa,m,mﬁﬁm
(1) 6 2 3 (1) 6 ) 3
3) 4 4) 2 (3) 4 @) 2
147. For given diagrames which of the following option 147, 2y v g @ v PR RFw A I T a6 2
correct :

A B
A B 5 P

(1) A—Radial- Hydra, B —Triploblastic - Hydra (1 A- - ®IEgT, B- - BI=Sl

(2) A-Radial -Hydra, B — Diploblastic - Meandrina (2) A=3@F - wrEy, B- fawhiRen - sgree

(3) A—Bilateral- Adamsia, B — Triploblastic-Planaria (3) A -feurd - vsafean, B- B - <mRar

(4) A—Radial - Hydra, B - Diploblastic - Sycon (4) A - 30T - BTEg B- BRIl - W
148. Which of the following structure is an organelle 148. FFT % & 9 @ TEAT HTF P I HTH BT =1

within an organelle :

g (1) ¥E (2) GAHTHT
(1) Mesosome (2) Mitochondria
_ (3) U=SaR (4) T
(3) Ribosome (4) Lysosome

149, fFfofad e &) afew:

149. Read the following statements :

How many statements is/are incorrect about W & fore e wF e /e 2
sponges: A. TSt IwERiR B 2
A. Sponges are hermaphrodite
pong P B. o aredl ik uRat= sveaer Siarg
B. Fertilization is external and development is .
indirect C. WIdd e AMHRFE A Faeh ¥ o= Bt B
C. Larval stage is morphologically distinct from D. HSHEET 3R DT FTeR PRI TR @R Bt
the adult 2
— D. Spongocoel and canal are lined by collar cetl o) M = 2) T
(1) Two (2) One (3) TR @) &=

(3) Four (4) Three



150.

151.

152.

153.

The space between hump and mantle is called 150, HHT TAT TaR & AT F T i 991 T HES B

mantle cavity in which ....... A....... are present: S0 Aol q¢ S 2
(1) A—foot (1) A-®R
(2) A—feather like gills (2) A-9E P I FAH
(3) A—Radula (3) A-Tafrer (gem)
(4) A—Eyes 4) A-sre
In given diagram A, B and C represent 151. R 1@ R ¥ A, B3R cyehifa @ 21
(€) (C)

(T) L (B) L

(1) A-Integral protein, B-Peripheral Protein, (1) A DEH, BRI T8H, C-aaeia

C-Cholesterol

(2) ATRNT FE, B-ahY, C-Fleieeiel
(2) A-Peripheral Protein, B-Sugar, C-Cholesterol )
(3) A-Integral protein, B-Sugar, C- Peripheral Protein (3)y A-STRTS EF, B, C-Rer i
(4) A-Peripheral Protein, B-Cholesterol, C-Sugar (4) ATReE 96, B-aleid, C-aad

In Angiosperms when pollen tube enters the 152 iRl ¥ 5« die= s TRaRE { v et 2
embryo sac how many male gametes take parts @ fFa RIS LLD R Y Ty

in double fertilization

(1) One (2) Two (1) 3= @ k&
(3) Three @) Multiple @) (4) w7 W
Read the following statement and choose correct 153. eI & @I dfeT SR 98 faeew 9w
option: (i) rEERRE FE B € Wy o & o sreaitg
(i) Cyclostomes are marine but migrate for SN 999 i B

spawning to fresh water. (i) NedtoE & U TaET & I 6-15 Gﬁﬁ -
(ii) Cyclostomes have 6-15 pairs of gill slits for oz 8 2

iration.

respiration (iii) afer % ¥ & areR A A7 T IR S 21
(iii) In aves oil gland present at the base of tail . . )
_ o o _ (iv) aferEt ¥ veEaTe T A wOaRd 2 2
(iv) In aves hind limbs are modified into wings.

(1) Fad (i), (ii) et

(1) Only (i),(ii) are correct
(2) Only (i), (iii), (iv) are correct (2) = (i), (i), (iv) e

3) Only (i), (i) (iii) are correct @) T (i), i), i
@) (i),(ii), (iii), (iv) are correct (@) (i), (i), (iv)@er

(26)



154,

155.

156.

Which one of the following matching are correct :

(1) Polyp — Jellyfish
(2) Gorgonia — Seapen
(3) Pennatula — Seafan
(4) Meandrina — Braincoral

In coelenterata cnidoblasts are used for :
(1) Anchorage

(2) Defense

(3) Capture of prey

(4) All of the above

Match the following columns :

Column- Column-Il
a. Ascaris i. Kingcrab
b. Gorgonia ii. Sea lily
c. Limulus iii. Round worm
d. Antedon iv. Sea fan
(1) a-iii, b-i, c-iv, d-ii (2) a-iii, b-ii, c-i, d-iv
(3) a-iv, b-iii, c-ii, d-i (4) a-iii, b-iv, c-i, d-ii

154, =i F 19 9 e 99 2

155.

156.

(1) Wy - o R
(2) IR - o (Ed )
(3) T - AT (A =)
(4) Frgem s

e A Hidtsaree &1 T fhes e BT @ -
(1) T=hYst

(2) s

(3) farm it R & fore

(4) ST it

FeafaRaa @ =1 e #iRke :
-l -l

a. EhRE i. fRTRT

b. =T i, 9 forelr

c. ferqe® iii. e [

d. =R iv. @ B

(1) a-iii, b-i, c-iv, d-ii
(8) a-iv, b-iii, c-ii, d-i

) a-iii, b-ii, ¢, d-iv
(4) a-iii, b-iv, c-i, dii

157. W lik i 1l i AR ~ ;
5 orm li e: pro.bosms, cc.> ar and trunk with 157. SR & oE , 3k E—
complete digestive system is : < . %
o foras T S @
(1) Saccoglossus ) -
(2) Hemichordata ) SN
(3) Balanoglossus (3) ¥R
(4) Allof the above @) et asst
158. Which of the following animal is without ’ o
C . ., 158. AwfeReT & ¥ #1991 g 9T ArRpaw AR TR
operculum and bladder but with placoid scale, is/ ) >
are - RN WY DAFAEE Thel B a1 gar 2l
(1) Dog fish (2) Tomedo (1) St o (2) TR
(3) Trygon (4) All of the above (3) g (4) ST &
159. Match the following columns : 159, fafeiRae Tl =) gRfera AR
Column-| Column-Ii - -1l
a. Pristis i. Electric organ 2. fifew i Eﬂﬁ'ﬁ poee O
b. Trygon ii. Flying fish o . .
b. I i, FsT R
c. Carcharodon iii. Saw fish o
c. FRPUSH iii. a1 R
d. Torpedo iv. Great white shark o
P d. RS iv. I EaEe 9@
e. Exocoetus v. stingray .
e. TFEIIIcE v. ReET
(1) a-iii, b-v, c-iv, d-ii, e-i  (2) a-iii, b-v, c-iv, d-i, e-ii

(62)

(3) a-iv, b-iii, c-i, d-v, e-ii a-iii, b-i, c-ii, d-iv, e-v

(1T a1, BV, C-Iv, a-1i, &1 (2] a-iil, bV, C-Iv, a1, e-ii

(3) a-iv, b-iii, c-i, d-v, e-ii (4) a-iii, b-i, c-ii, d-iv, e-v



160.

161.

162.

163.

Which one of the following worm is known as Hook
worm :

(1) Ascaris

(2) Wuchereria

(3) Ancylostoma

(4) Hirudinaria

Which of the following is absent in Prokaryotes :
(1) DNA

(2) Mitochondria

(3) RNA

(4) Cell membrane

On the basis of given figures which of the following
option is correct :

(1) A—Vessel — Present in Xylem
(2) B—Mesophyll cells — Round and oval
(3) A—Tracheid —Presentin Xylem

(4) More then one option correct

Which of the following is not includes in
endomembrane system :

160. Fe=feiaa ¥ ¥ =i7 a1 g o & T ¥ ST S R

(1) ve=hRE

(2) TRl

(3) veTEAIEEr
(4) fesfeARar

161. 7T F ¥ 19 Ny A 78 g S 21

(1) DNA

(2) AT
(3) RNA

(4) PfareRT fereet

162. few ¢ oy & IR R AR w8 e gibe:

(1) A=aIfeehT — Sge™ § R S 21

(2) B-—iSifther AT — el 3K JHETFR
(3) A3 — T § I Wl B

@) v ¥ IR fAwer a8

163. T A q &9, 3 Rifeeanr o= & 76 ST M4 21

(a) Golgi apparatus (a) el IYFHTT
(b) Endoplasmic Reticulum (b) ST SferenT
(c) Mitochondria (© Wm
(d) Lysosome (d) TEEE
(1) aonly (1) Sl a
(2) aanddonly (2) 37 a3k d
(3) conly (@) @ c
(4) donly

28) (4) whae d



164. Identify the diagram A and B and select correct 164, fr3r A 3K B &l 9917 31k AR B e 98 Reew

optionforAand B : ﬂﬁR’:
e | >
‘o o
S %‘ -
AN Py j‘
A B' A‘ ‘B'
(1) A—whorl —Alstonia , B —Alternate — Mustard (1) A — TFIRER— VAT, B — UHiaRoT— &
(2) A—whorl —Alstonia, B — Opposite — China rose (2) A —TFFER— T+, B — R g8
(3) A—Alternate— Sunflower, B — Opposite — Calotropis 3) A—QWUT—W, B —aF 99— 3T
(4) A-Opposite— Chinarose, B —Alternate— Mustard 4) A-—a9@—Tsed, B — T T=RUT—G3q)

165. When flower can be divided into two similar halves  165. 5§ H& &I Hhad T& AT FeaieR 99ad & 3 G904
only in one particular vertical plane is found in : WY X farstara R Sirar = U9 foRas urT ST @
(1) Cassia (2) Gulmohur (1) fIar (2) gl?l"ﬁ%?

(3) Bean (4) All of these (3). ¥ (4) ST A o

166. Match the following column | and column II : 166, FFr=IfeilRaa Sfert | 3R e |1l Y Rzl :

Column-| Column-lI | g -1
a. Valvate i. Pea a. FREgET i. @
b. Twisted ii. Cotton b. =EfSq ii. U
c. Imbricate iii. Gulmohar c. TRSE i W
d. Vaxillary iv. Calotropis 4. Fedah V. el
(1) av,bil, cil, & (1) a-iv, bil, c-iii, o
(2) a-iv, briil, i, d-i ) a-iv, briil, c-ii, d-i
Q) a-i, b-ii, c-iv, d-iii (3) a-i, b-ii, c-iv, d-ii
(4) a-ii, b-iv, ciii, d-i 4) a-ii, b-iv, c-iii, d-i
167. Match the following column | and column i : 167. FrfoRad & THT- 1 - 11F 9T gaferd R
column-I column-li -1 T -l
a. Marginal i. Lemon a. T i T‘ﬁi
b. Axil ii. Pea b. &g i, Wex
c. Parietal iii. Primrose c. e iii. TS
d. Free - central iv. Argemone d. T = R -
e. Basal v. Marigold JRS v

(1) &, bil, el v, e-v (1) @, brii, c-iii, d-iv, e-v

(2) a-v, b-iv, c-iii, d-ii, e-i
) a-ii, b-i, c-iv, d-iii, e-v (3) a-ii, b-i, c-iv, d-iii, e-v
4) a-ii, b-i, c-v, d-iii, e-iv 4) a-ii, b-i, c-v, d-iii, e-iv

(2)

(2) a-v, b-iv, c-iii, d-ii, e-i




168.

169.

170.

171.

172.

Find out the correct floral formula
fabaceae :

M % §-‘ K5 C1+2+(2) A9+1 gz
(2) @Ebr é‘ K5 C1+2+(2) A(9)+1 §1
(3) %é‘ K(5) C1+2+(2) A(9)+1 §1

(4) $Eb|" é‘ K5 C1+2+(2) A9+1 QZ

Stem modified into flattened and fleshy structures
are known as :

(1) Phyllode
(2) Phylloclade
(3) Tuber

(4) All of these

In which of the following lateral branches
originate from the basal and underground portion
of the main stem, grow horizontally beneath the
soil and then come out obliquely upward giving
rise to leafy shoots:
(1) Pistia (2) Eichornia

(4) All of these

Match the following columns

(3) Chrysanthemum

Column-I Column-lI
a. Taproot i. Monstera
b. Fibrous root ii. Guava
c. Adventitiousroot iii. Banyan
d. Proproot iv. Wheat
1) a-ii, b-iv, c-i, d-iii (2) a-i, b-ii, cAiii, d-iv

(
(3) a-ii, briii, c-i, d-iv ()

In given diagram A and B represent :

a-iii, b-i, c-ii, d-iv

(1) A—Epigynous, B — Perigynous

(2) A —Perigynous, B — Perigynous
(3) A—Epigynous, B — Hypogynous
(

4) A - Hypogynous, B — Epigynous

169.

170.

171.

of family 168. @ BIM & &7 [T T A =9 :

(1 % §K5 C1+2+(2) A9+1 gz

(2) @Ebr é‘ K5 C1+2+(2) A(9)+1 §1

(3) %é‘ K(5) C1+2+(2) A(9)+1 §1

(4) $Eb|" é‘ K5 C1+2+(2) A9+1 QZ

1§ T T FYFRT J9T 91 RSR 13 A 8T 8
ST ST 2

(1) freaare

2) fheciaete

(3) TR

4) ST A ot

frad wredia I SR T R e T @
e ® ok ficdt F 1 AR w7 3 gl wen @
3R 3% 91T R e 3 F 3k o gaa We
ST B

(1) fafeear (2) SmEeRREr

(3)  FrEA~HT 4) SWRFT A

FeafaRaa st =i 98 afea iR
-1 T -l

a. @& & i- AT

b. & A ii- e

c. JqeNS Wi iii- SGE

d. 99 & iv- g

(1) a-ii, b-iv, c-i, d-iii
(3) a-ii, b-iii, c-i, d-iv

(2) a-i, b-ii, c-iii, d-iv
(4) a-iii, b-i, c-ii, d-iv

172. T ¢ R A AR B frae) seRfa s w@r e :

30)



173. In the given following statements, select the

174,

175.

176.

177.

correct statements

(@) Anumber of leaflets are present on acommon
axis, the rachis, which represent the midrib
of the leaf in pinnately compound leaf

(b) The leaf base may become swollen is pulvinus
in some leguminous plants

(c) Supporting roots coming out of the lower
nodes of the stem called stilt roots in Banyan
and Rhizophora

(d) Axillary buds of stems may also get modified
into woody, straight pointed thorns as in Citrus
and Bougainvillea

) a, b, ¢, dare correct

~

(1
(2) a, b, dare correct
(3) b, c,d are correct
(4) a,c, d are correct
Prop roots are :

(1) Tap roots (2) Adventitious roots
(3) Secondary roots (4) All of these

Match the following column | & column |l

Column -1 Column =i
a. Stem tendril i. Maize
b. Thorns ii. Bougainvillea
¢c. Underground stem iii. Watermelon
d. Stiltroot iv. Colocasia
) a-iii, b-ii, c-iv, d-i

~

(1
(2) a-iv, b-ii, c-i, d-iii

(3) a-i, bii, c-iii, d-iv

(4) a-iii, b-ii, c-i, d-iv

Suberin layer is found in :

(1) Conjuctive tissue

(2) Pericycle

(3) Hypodermis

(4) Innermost layer of cortex of root
Intercalary meristems are :

(1) Presentin grasses

(2) Primary meristem

(3) Secondary meristem

(4) Both 1and?2

173. FffRaT e & ¥ 19 &y 99 2

(a) F=sTHR wgaa aier™l o 959 ¥ T9F T & JeT
(vfra) St weARRT & &7 9 2, R R Ee
2l

(b) {S AT del F HaAT TAT TN FT AUR
TN E & ¥ g @

(c) TS S A T & e 9 Feher 2 iR
fReve 1R #Ed ? S 90T U9 TSWHiT A 9
Sl 8

(d) T 3 Fefig Fieal e, @er T Tatel Fier
¥ wraRd & IR 21 FIe agT F Nen A B F
<& Riga, aiafafemr |

(1) a,b,c, dg& &
2) a, b, duEr
(3) b,c,d & B
@) a,c, duE &
174. 917 &€ ® :
(1) & (2) st A
3) fexiaen o (4) IR A
175. faifaRaa & w9- | &t w9 - 11 & a1y Ao
- -l
a. I 9de i. WFRI
b. @i ii. @I=fafeEr
c. RrE T iii. TS
d. T T iv. SRE

(1). @i, b-ii, c-v, d-i
@) a-iv, bii, c-i, diii
(3) @i, b-ii, c-iil, d-iv
(4) a-iii, b-ii, c-i, d-iv

176. 3R of fored o€ Wi 2

(1) SolfFed SHah

(2) 9

(3) B e

(4) T P FICH N GO A TR

177.Fd9 30 AR B B

1) =9 § Jufera
2) urafieR adwH
3) fedias #A=H

(
(
(
@) 13K 23

@D



178.

179.

180.

181.

182.

In the following How many matching are correct:
(A) Flegella -

(B) Mesosome -

Axonems

Analogous to
mitochondria

(C) 70 Sribosome - Subunit40 S abd 30

S
(D) Lysosomes - Hydrolytic enzymes
(1) One @) Two
(3) Three (4) Four

Simple tissue that don't contain chloroplasts :

(1) Parenchyma (2) Collenchyma

(3) Sclerenchyma (4) Xylem

Which of the following is not an element of xylem
in gymnosperms

(1) Sievetube

(2) Vessels

(3) Xylem fibres

(4) Xylem parenchyma

How many statements are correct with reference
to figure:

(a) Itis presentin stem, root

(b) It has a structure which absorbed the water
(c) It has cell division area

(d) Above structure is formed by embryonic radicle
(1) 3 ) 2

(3) 4 (4) 1

In a cut trunk of a tree the section was showing 26
concentric rings of spring wood and 26 concentric
ring of autumn wood in alternating layers. The age
of the tree is estimated to be

(2) 26 years
(4) 104 years

(1) 13 years
(3) 52years

178. fe=ifefRaa A foraa R a1 2 :

(A) ST - A
(B) A& - G S & AN
(C) 70 STZAET - ¥9gMHT 40STq 30S
(D) rZAEH - I ATEICHT OSTEH
(1) T (2) @
(3) o= (4) IR
179.9% FaF Wt faFT FARIRCE 6T &er 7
(1) Reerre (2) TRlclTeRrE
(3) FeFeiR-ToRTSAT (4) SEer
180."F=ITwg & WIEe™ A wTEl gar 21
(1) =nferr AfereRT
2) &
(3) Sz wrEad
(4) STTEH SRR

181.fhaq oA A 13 R & 9= ¥ 98 2

(a) 9% SIE, 991 A 9T e @

(b) 39 BT ¥ v 9= R, S 9 T SEIeer St
2

(c) 9 HIRET IS &= waar 2

(d) S G &1 Bt ouiia Jerg 3 g @
(1 3 2 2

3) 4 (4) 1

182.9%F & & T & 499 FIeH W TF & 917 TF 26

FAfge R 999 7% 3R 26 FAfga KT e =
vETIRG w4 A i ot 59 g&1 9 ST = B

(1) 13 a¥ 2) 26 a9
(3) 52 a¥ 4) 104 I§

(82



183.

184.

185.

186.

Special venous connection between liver and
intestinein frog is :

(1) Hepatic portal system

(2) Renal protal system

(3) 1and 2 both

(4) None

Phellem and phellogen respectively represents :
(1) Secondary cortex and cork
(2) Cork and secondary cortex
(3) Cork cambium and cork

(4) Cork and cork cambium

In winter, the cambium is less active and forms
fewer xylary elements that have narrow vessels,

and this wood is called :
(1) Spring wood (2) Early wood

(3) Autumn wood (4) Heart wood

Starch sheath is a endodermis which rich starch
grains found in :

(1) Monocot root
(2) Dicot root
(3) Dicot stem

(4) Monocot stem

187. Vascular bundle is conjoint, open and with endarch

protoxylem found in :
(1) Monocot root

(2) Dicot root

(3) Dicot stem

(4) Monocot stem

188. Which of the following structure constitute stele :

183. e ¥ I AR AT & div RV RRT W waer A

184.

?:

(1) e et 9=

(2) gaFIg THareent 99

3) 13Kk 23

(4) wrE &

Ted AR hA waE: giafARcg @
(1) e aege 3k T

(2) T 3R fgiigs Fcaq

(3) I hiGTH 3R Frh

(4) T IR FIS DlagH

185. afdal A i = aforg &ar 2, 3k sga & &

186.

187.

188.

IS aifgsh A a9 2, e 96l Bl 8 39 @@ &1
2R A FEd B

(1) 9§ < (2) 3T T
(3) JTERTE

T ARV T Fa-aqr 2 e 9€ " S v e
WA 2 fredY S 2:

(OREEIELEIRSE

(2) Teeiora=t it &

(3) Teeiora=t & o=

(4) THSSTIAT & T

9141 ST ©

(1) TSI & T8

2) feiod & o

3) feiwo= & o=

(4) THSISTIAT & T

FfafaT & sis @ T e @ o s 21

(4) 3 S

(1) Pericycle (1) aReNaT =
(2) Vascular bundles (2) G A
(3) Pith (3) fax
(4) All of these (4) a &
189. The pith is small or inconspicuous in : 189. fa1 Bter AR Feee fFed A 2 -
(1) Monocot root (1) TSt T & o
(2) Dicot root 2) feiiea=t & &g
(3) Dicot stem 3) fedfiea=t & &
(4) Monocot stem (4) TR o=

33)



190.

191.

192

193.

194,

The cork cambium, cork and secondary cortexare 190, &fss Sfag, s ¢q fedas Hcaq m—;ﬂ%iﬁ |

collectively called :
(1) Phellem

(2) Phelloderm

(3) Phellogen

(4) Periderm

Presence of Nictitating membrane is the

charectristic of :

1) Coackroach

(

(2) Frog
(3) Earthworm
(4) 1and 2 both

Malpighian tubules are :

(1) Excretory organ of arthropoda
(2) Excretory organ of annelids
(3) Respiratory organ of insects
(4) Respiratory organ of annelids
Bidder's canal is present in :
(1) Testes of frog

(2) Kidney of male frog

(3) Kideny of female frog

(4) 2and 3 both
Identify A, B, C in diagram :

(1) A — Hepatic Caeca , B — Crop, C — Malpignian

tubules

(2) A—Crop, B —Gizzard, C — Malpighian tubules

(3) A—-Gizzard, B —Crop, C —Hepatic Caeca

(4) A-Crop, B—gastric ceaca, C—Malpighian tubules

el oT 2:
(1) em
(2) thelred
(3) HaT
(4) W

191. T fareel &t araT ST fohaenT @1eToT 2

(1) foerreer
2) JEF

(3) Fgsm

@) 13K 234

192. Al =Aferen 2:

(1) SMATAET AT Ieo AT
(2) VAferET &1 IS 3T
(3) ISl & TG T

(4) VAferEr & TgET 3T

193. fq=X T frad 9t SN 2

(1) Hew = guor ¥

@) R¥IcTH & gFF 4
(3) WTeT AT & gFE A
(4) 23R 32T

194. fo1 ¥ A, B, Cyg=1f\Q :

(1) A —TfRufee et , B — 7=, C — FedRi =7l
2) A—T=, B —99ufl, C —HTGRT it
(3) A—Tutit, B —3ey, C —fRufes Har
4) A -, B —Afkgew i, C —Aerdivi =it




195.

196.

197.

In Frog RBC's are :

(1) Anucleated with Haemoglobin
(2) Nucleated without Haemoglobin
(3) Anucleated without Haemoglobin

(4) Nucleated with Haemoglobin

Match Column- | with Column- Il and select the

correct option :
Column -1 Column-Il

Epithelial tissue Location

a. Cuboidal i. Wall of blood vessels

b. Ciliated ii. Lining of stomach and
intestine

c. Columnar iii. Inner lining of fallopian
tube

d. Squamous iv. Duct of glands

(1) a-i, b-ii, c-iii, d-iv  (2) a-ii, b-iii, c-i, d-iv
(3) a-iv, b-iii, c-ii, d-i  (4) a-iii, b-iv, c-i, d- i

Match Column-l with Column -ll and choose the
correct option:

Column -l Column-li

a. Loose connectivei.
tissue

Tendons and ligaments

b. Denseregular ii. Skin connective tissue
c. Dense irregular iii. Cartilage, bones, blood

connective tissue

d. Specialised iv. Fibroblasts,
connective tissue macrophages and mast
cells
(1) a-i, b-iv, c-ii, d-iii
(2) a-i, b-iv, c-iii, d-ii
(3) a-iv, b-i, c-ii, d-iii

(4) a-iv, b-ii, c-i, d-iii

198. Which statement is correct :

(1) In Hydra number of cells in each type can be in
thousands

(2) The human body is composed of billions of cells

(3) Tissue is a group of similar cells alongwith inter-
cellular substances perform a specific function

(4) All of these

195. %% A RBC's A N 2 :

(1) BRI & goFd Feseh dod
(2) T gard Seltee FRd
(3) Tv=eh WRd SANefe BT
(4) T gFrd eMRAlS gard

196. T -1 T TN - || T 1Y e & o 98 faemeT &1

T T
WY - -l
JUhell FaR I
a. TFER i. o aifgeren @ fafea &
b. AN ii. STHTER T AT & ®R
¥
c. WHIHR iii. R a1 Aferarant & o
A
d. I iv. TRy Y iRy &

(1) a-i, b-ii, c-iii, d- iv
3) a-iv, biii, c-ii, d- i

(2) a-ii, biii, c-i, d-iv
(4) a-iii, b-iv, c-i, d- i

197. TAN-1 T T -l & 91T Rreaae &0 9o 98) faemed &1

T 0
T -| -l

a. PiRre garsh i. FHAY TN Y
Fadh

b. &u Fafa ii. 9T 99IoN Hah

c. guq At iii. Jumfeer, rfeer, T
|aiol Sds

d. faRrema gael  iv. IgERE, TEEEIY
FdR U9 ARE TR

(1) a-i, b-iv, c-ii, d- iii
2) a-i, b-iv, ciii, d- i
(3) a-iv, b, c-ii, d- iii
(4) a-iv, bii, c-i, d- iii

198. FIT AT FAT I 8 :

(1) TSI H IUH RS 1 AR 1 9T B 3 o
Fhell &

(2) AT HT IR @ HIAHTA T T FIM 3

(3) Sk AWM AN T W[E & O FRRTART
Terdt 9fed v f99w e oar 21

4) ST it

£



199. Movement of mucus in a specific direction over 199, frg &R &5 Iuharr A AT & U A= fRar & ofy

epithelium is function of : F TR R
(1) Columnar epithelium (1) TIHTRR IThell
(2) Cuboidal epithelium (2) =FTRR IYhedl
(3) Ciliated epithelium (3) TeATt Ul
(4) Squamous epithelium (4) Tt Tl
200. In frog the gaseous exchange during hibernation 299, Fzs ¥ fiwy AfRtFHgaT 3tk NafRfReaar # 2+ sIEM
and aestivation takes place through : yer fFae g’y Brar 2
(1) Buccal cavity (1) 99 a1
(2) Lungs and Buccal cavity (2) BET IR @ TET
(3) Skin (3) o=
(4) Lungs (4) ®FS

(36)






